I. Classical mechanics (Hamiltonian formalism). Motion of a point particle in a force field position $x = (x_1, ..., x_n) \in \mathbb{R}^n$ force field $F(x) = (F_1(x_1), ..., F_n(x))$ mass $m \in \mathbb{R}_{>0}$ time $t \in \mathbb{R}$ and trajectory of pertide is map $x_3 \longrightarrow x_2$ $x : \mathbb{R} \longrightarrow \mathbb{R}^n$ x_1

Newton's Law
$$F(x) = m \ddot{x}$$

 I^{st} ender formalism: define $p = m \dot{x}$ "nomentum"
then $F(x) = m \ddot{x} \iff \begin{cases} p = m \dot{x} \\ F = p \end{cases}$
 I^{nd} order
 $D.Eq.$ System of I^{st} order
 $D.Eq.$

Main advantage: if we specify X(to) and P(to) the system tells us X(to+ bt) and P(to+ bt)

of the system at time t 13 (X(t), p(t))

and the state evolves by solving a 1st order ODE at any (x, p) the velocity (x, p) is given: $(\dot{x}, \dot{p}) = (\frac{P}{m}, F(x))$ In other words, the 1st order system may be interpreted as a vector field V on the phase space M 3 vector-valued smooth for space of all positives 3 space of all positives and momenta Solving the system (=> finding an integral curve of V through (xo, po) (with int. cond (mo, po) An integ. curve of V through (xo, Po) is a smooth map $r: \mathbb{R} \longrightarrow M$ $\forall (o) = (x_0, p_0)$, $\dot{\forall}(t) = V(\forall(t))$.



Find integral curves : especially easy since V is a linear
$$V$$
. field i.e. $V(2x_32p) = \lambda V(x_3p)$

$$\begin{pmatrix} p_{m}^{n} \\ -kx \end{pmatrix} = \begin{bmatrix} 0 & m^{-1} \\ -k & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} x \\ p \end{bmatrix}$$

$$\begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} \\ \begin{array}{c} = \begin{bmatrix} 0 & 1$$

In

Observe that we have a conserved quantity: a function
on phase space which is not:
$$H = \frac{1}{2}kx^{2} + \frac{1}{2}m^{-1}p^{2} = \frac{1}{2}(x^{2} + p^{2})$$
$$A_{\Lambda + \Lambda A}^{T} = (\frac{1}{2}m^{-1})^{T}(\frac{k}{m^{-1}}) + (\frac{1}{m}m^{-1})(\frac{1}{2}m^{-1}) = 0$$

This conserved quantity is added the total energy or Hamiltonian.
$$H = V + T \qquad potential + kinetic$$
$$V = \frac{1}{2}kx^{2} \qquad st. - \frac{2}{2}xV = F$$
$$T = \frac{1}{2}m^{-1}p^{2}$$

Geometric interpret:

$$Q = R^n$$
 configuration space.
 $V : Q \rightarrow IR$ Potential.
 $-dV = F$ force 1-form
 $g(\cdot, \cdot)$ Metric 1.e. Pos-def symm. bilinean
form on TQ
 $g(\dot{x}, \dot{x}) = m(\dot{x})^2$
 $g : TQ \rightarrow T^*Q$
 $\frac{2}{3x^i} \longrightarrow g_{ij} dx^j$

V gives rise to a
$$flow$$
:
through each point $X \in M$ we have!
maximuliatequal curve $V: (-\varepsilon_{-}, \varepsilon_{+}) \longrightarrow M$
 $\varepsilon_{\pm} > 0$

オ

×

s.t.
$$\int \chi(t) = \chi(\chi(t))$$

 $\chi(0) = \chi$

If
$$\Psi_V$$
 is defined on $M \times \{t\}$
the $\Psi_V^t = \Psi_V \circ i_t : M \longrightarrow M$
is a diffeo: onto its ineger

-

Coordinates:
$$(x',...,x^n)$$
 on Q
 $\frac{2}{2x'},...,\frac{2}{2x^n}$ basis for TQ
 $dx',...,dx^n$ dual basis for TQ
 $F = F_i dx' + ... + F_n dx^n \in \Omega^1$
 $g = 2 g_{ij} dx^i \otimes dx^j$ bilinear form
on TQ.
 g defines a map TQ $\rightarrow T^{*Q}$
 $\frac{2}{2x^i} \longrightarrow g_{ij} dx^j$
general point in T*Q is
 $((x',...,x''), P_i dx' + ... + P_n dx'')$
so $(x',...,x'', P_i,...,P_n)$ are coords on T*Q
 (P_i) are "anonically Conjugate" to (xi).

lupontant deservation: the 1-form $\sum_{i=1}^{n} P_i dx^i = \Theta$ and 2-form do= Édpindxi the indep. of word transform: Xi= Xi(x',...,x") change of word, $d\tilde{x}^{i} = \xi \frac{\partial \tilde{x}^{i}}{\partial v^{j}} dx^{j}$ $\tilde{p}_i d\tilde{x}^i = \tilde{p}_i \frac{\partial \tilde{x}^i}{\partial x^i} dx^j$ $= P_{b} dx^{k}$ $P_{k} = \sum \tilde{P}_{i} \frac{\partial \tilde{x}_{i}}{\partial x^{k}}$ $\tilde{p}_i d\tilde{x}^i = P_b \frac{\partial x^k}{\partial \tilde{x}^i} \frac{\partial \tilde{x}^i}{\partial x^k} dx^k = P_k dx^k$

Hamiltonian formelien
The phase space
$$M = T^*Q$$

has intriveric str. of Symplectic mfld
has intriveric str. of Symplectic mfld
indep. of the forces acting.
 $\omega = dp \wedge dq \in S2^2(M)$
This gives rixe to the following str:
for any function $f \in C^{\infty}(M)$, $df \in \Gamma(M, T^*M)$

and
$$-\omega'(df) = X_f \in \Gamma(M, TM)$$
 is a vector field.

C²⁰(M) w^d
$$\rightarrow$$
 $\chi(M)$
Somewheat stimilar to the gradient of a f^N (defined using metric)
but sit

Conclusion:
$$(M, w)$$
 gives a vachanism for
converting a fin field of the a vifield $X_{ij} \in X(M)$
which preserves f and or. It produces symmetries
with desired conservation law.
Furthermore:
 $a = k$ this actually lifts the $C^{on}(M)$: we have a
"Poisson bracket" $\{f, g\}$ $m = f, g \in C^{on}(M)$.
such that $X_{f,g}^{i} = [X_{g}, X_{g}]$.
 $Def": \{f, g\} = -\omega^{-1}(df)(dg) = -\omega^{-1}(df, dg)$
 $= X_{g}(g) = -X_{g}(f)$.
In coords X'_{1}, \dots, X'_{m} P_{12}, \dots, P_{m} for $(x, P_{i}dx_{i}) \in T^{*}M$
 $\omega = \{f dP_{i} \land dX_{i}^{i}\}$ and $\omega: \{\partial_{X_{i}} \mapsto -dP_{i}\}$
 $X_{f} = \sum_{i} (\frac{\partial f}{\partial X_{i}} \frac{\partial}{\partial P_{i}} - \frac{\partial f}{\partial P_{i}} \frac{\partial g}{\partial X_{i}})$
 $Prof: \{i, j\} is is index of the second of the$

And the map
$$(c^{\infty}(M), \hat{t}, \hat{t}) \xrightarrow{\omega'd} (\Xi(M), \tilde{t}, \tilde{t})$$

is a Lie algebra homomorphism.
Review: (I) functions $C^{\infty}(M)$ are "physical observables"
(I) any function \hat{t} defines a dynamical system
- v.field $X_{\hat{t}} = \omega'd\hat{t}$
- acts on $f^{MS} X_{\hat{t}}(g) = \hat{\xi}\hat{t}, g\hat{s}$.
So that flow is
 $\hat{g} = \hat{\xi}\hat{t}, g\hat{s}$
here projection: i) $\hat{f} = \hat{\xi}\hat{t}, \hat{t}\hat{s} = 0$. conserved.
(any this poisson come. w/f
is conserved!).
2) flow doesn't affect $\hat{\xi}\hat{s}$ itself

eq.
$$- f \in C^{\infty}(Q)$$
 $\pi^{*} f \in C^{\infty}(T^{*}Q)$
 $\chi', ..., \chi^{n}$ $\pi^{*} \chi^{i} \in C^{\infty}(T^{*}Q)$ "position"
 $- conjugate coords P_{i}, ..., P_{n}$ $P_{i} \in C^{\infty}(T^{*}Q)$
'momenta.'

for
$$Q = R$$
 $H = T^*Q = R \times R \ni (x, p)$
 $\omega = dp \wedge dx$
 $H = \pi^* V + E_g$

$$\begin{bmatrix} E_g(x, \xi) \\ \vdots \\ 2 & J_x^{(\xi, \xi)} \end{bmatrix}$$
 $= \frac{1}{2} (x^2 + p^2) = \frac{1}{2} (k x^2 + p_x^2)$
 $= \frac{1}{2} (k x^2 + p^2)$
 $= -x \frac{\partial}{\partial p} + p \frac{\partial}{\partial x}$
The energy function is precisely.
the one whose associated symmetry is the
time evolution.

how does the state evolve?
state =
$$(x, p) \in M$$

 $\dot{x} = \{H, x\} = \frac{\partial H}{\partial p}$ Hamilton's
 $\dot{p} = \{H, p\} = -\frac{\partial H}{\partial x}$

in our example
$$\int \dot{x} = m' P$$

 $\int \dot{p} = -kx$

Note: Here we have considered 3 observable

$$X_1 P_1 H$$

 $\{H, X\} = P$
 $\{H, P\} = -X$
 $\{P, X\} = 1$



Spherical Pendulum

$$S^{2} = \begin{cases} (x', x^{2}, x^{3}) \in \mathbb{R}^{3} : Zx_{1}^{2} = 1 \\ T^{*}S^{2} = \begin{cases} (x, y) \in T^{*}\mathbb{R}^{3} = \mathbb{R}^{3}\mathbb{R}^{3} : \|x\|^{2} = 1 \text{ and } x \cdot y = p \\ H = \frac{1}{2} y \cdot y + x^{3} \\ H = \frac{1}{2} y \cdot y + x^{3} \\ L = x^{2}y_{1} - x'y_{2} \\ quester rot. abort x^{3} avis \\ \{H, L^{\frac{1}{2}} = 0 \\ Every - Momentum mapping (Moment map) \\ J = (H, L) : T^{*}S^{2} \rightarrow \mathbb{R}^{2} \\ \int e^{i\pi t} \int e^{i\pi t$$



